

County Distribution Detail Report through 06/02/2022

Aurora

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2022	958	1,969	19	2,946	\$3,682.50	\$83.16	\$3,599.34	0.70	\$2,519.54
							Entity Tota	l:	\$2,519.54
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$2,519.54
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	9	0	9	18	\$22.50	\$0.00	\$22.50	0.70	\$15.75
4/2022	3,243	10,461	419	14,123	\$17,653.75	\$266.02	\$17,387.73	0.70	\$12,171.41
							Entity Tota	l:	\$12,187.16
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$12,187.16
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2022	856	1,202	6	2,064	\$2,580.00	\$36.80	\$2,543.20	0.70	\$1,780.24
							Entity Tota	l:	\$1,780.24
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$1,780.24
Bon Homme									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2022	1,662	3,969	9	5,640	\$7,050.00	\$117.60	\$6,932.40	0.70	\$4,852.68
							Entity Tota	l:	\$4,852.68

Adjustment: \$0.00

Total Amount: \$4,852.68

Percent

Brookings

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2022	10,329	21,682	233	32,244	\$40,305.00	\$733.09	\$39,571.91	0.70	\$27,700.34
							Entity Tota	l:	\$27,700.34
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$27,700.34

Brown

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	1	0	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
4/2022	8,216	26,702	706	35,624	\$44,530.00	\$797.47	\$43,732.53	0.70	\$30,612.77
							Entity To	tal:	\$30,613.65
							Adjustme	ent:	\$0.00
							Total Am	ount:	\$30,613.65

Brule

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
4/2022	2,046	3,771	58	5,875	\$7,343.75	\$136.19	\$7,207.56	0.70	\$5,045.29	
							Entity Tota	ıl:	\$5,045.29	
							Adjustmer	t:	\$0.00	
							Total Amo	unt:	\$5,045.29	
Buffalo										

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2022	515	475	1	991	\$1,238.75	\$22.69	\$1,216.06	0.70	\$851.24
							Entity Total:		\$851.24
							Adjustment	:	\$0.00
							Total Amou	nt:	\$851.24
Butte									
Reporting Period	Telecom Lines	Wireless Lines	VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount

Lines

3/2022	1	0	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
4/2022	2,092	6,619	117	8,828	\$11,035.00	\$201.10	\$10,833.90	0.70	\$7,583.73
							Entity Tota	al:	\$7,584.61
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$7,584.61
Campbell									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	1	0	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
4/2022	616	1,350	17	1,983	\$2,478.75	\$43.49	\$2,435.26	0.70	\$1,704.68
							Entity Tota	al:	\$1,705.56
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$1,705.56
Charles Mix									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2022	2,381	5,539	21	7,941	\$9,926.25	\$149.83	\$9,776.42	0.70	\$6,843.49
							Entity Tota	I:	\$6,843.49
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$6,843.49
City of Box Elder, M	eade Co								

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2022	58	2,977	88	3,123	\$3,903.75	\$58.25	\$3,845.50	0.70	\$2,691.85
							Entity Tota	al:	\$2,691.85
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,691.85

City of North Sioux City, Uni

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2022	592	2,844	97	3,533	\$4,416.25	\$95.27	\$4,320.98	0.70	\$3,024.69

Adjustment: \$0.00 **Total Amount:** \$3,024.69

City of Pierre, Hughes Co.

only of Fierre, Hugh									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2022	3,199	11,266	404	14,869	\$18,586.25	\$246.36	\$18,339.89	0.70	\$12,837.92
							Entity Tot	al:	\$12,837.92
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$12,837.92
City of Sioux Falls, I	Lincoln (
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2022	4,170	27,466	2,763	34,399	\$42,998.75	\$861.66	\$42,137.09	0.70	\$29,495.96
							Entity Tot	al:	\$29,495.96
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$29,495.96
Clark									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2022	1,131	2,293	42	3,466	\$4,332.50	\$63.36	\$4,269.14	0.70	\$2,988.40
							Entity Tot	al:	\$2,988.40
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$2,988.40
Clay									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2022	1,514	7,686	224	9,424	\$11,780.00	\$226.95	\$11,553.05	0.70	\$8,087.14
							Entity Tot	al:	\$8,087.14
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$8,087.14
Codington									

igio

Reporting Period

Telecom Lines Wireless Lines

VOIP **Total Lines** Lines

Surcharge

Admin Fee

Net Surcharge

Entity Entity Amount Percent

4/2022	6,209	19,346	586	26,141	\$32,676.25	\$531.11	\$32,145.14	0.70	\$22,501.60
							Entity Tota	ıl:	\$22,501.60
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$22,501.60
Corson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2022	934	844	329	2,107	\$2,633.75	\$41.60	\$2,592.15	0.70	\$1,814.51
							Entity Tota	d:	\$1,814.51
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$1,814.51
Custer									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2022	2,975	6,177	56	9,208	\$11,510.00	\$218.22	\$11,291.78	0.70	\$7,904.25
							Entity Tota	ıl:	\$7,904.25
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$7,904.25
Davison									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	3	0	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
4/2022	4,277	14,285	609	19,171	\$23,963.75	\$422.39	\$23,541.36	0.70	\$16,478.95
							Entity Tota	l:	\$16,481.58
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$16,481.58
Day									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

\$6,703.75

\$112.46

5,363

4/2022

1,729

3,567

67

Entity Total: Adjustment:

0.70

\$4,613.90

\$4,613.90

\$0.00

\$6,591.29

Total Amount: \$4,613.90

Deuel									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2022	1,469	3,004	93	4,566	\$5,707.50	\$99.85	\$5,607.65	0.70	\$3,925.36
							Entity Tota	al:	\$3,925.36
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,925.36
Douglas									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2022	1,087	2,163	16	3,266	\$4,082.50	\$63.80	\$4,018.70	0.70	\$2,813.09
							Entity Tota	al:	\$2,813.09
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,813.09
Edmunds									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2022	1,104	2,889	68	4,061	\$5,076.25	\$83.97	\$4,992.28	0.70	\$3,494.60
							Entity Tota	al:	\$3,494.60
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,494.60
Fall River									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2022	2,674	4,766	30	7,470	\$9,337.50	\$178.31	\$9,159.19	0.70	\$6,411.43
							Entity Tota	d:	\$6,411.43
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$6,411.43
Faulk									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2022	677	1,493	32	2,202	\$2,752.50	\$44.52	\$2,707.98	0.70	\$1,895.59

							Entity Tota	al:	\$1,895.59
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,895.59
Grant									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2022	1,762	5,355	84	7,201	\$9,001.25	\$168.58	\$8,832.67	0.70	\$6,182.87
							Entity Tota	al:	\$6,182.87
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$6,182.87
Gregory									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2022	1,490	3,518	6	5,014	\$6,267.50	\$125.31	\$6,142.19	0.70	\$4,299.53
							Entity Tota	al:	\$4,299.53
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,299.53
Haakon									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2022	934	1,301	6	2,241	\$2,801.25	\$38.72	\$2,762.53	0.70	\$1,933.77
							Entity Tota	al:	\$1,933.77
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,933.77
Hamlin									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2022	1,392	3,903	49	5,344	\$6,680.00	\$81.52	\$6,598.48	0.70	\$4,618.94
							Entity Tota	al:	\$4,618.94
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,618.94

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	2	0	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
4/2022	940	2,606	44	3,590	\$4,487.50	\$82.03	\$4,405.47	0.70	\$3,083.83
							Entity Tota Adjustmer		\$3,085.58 \$0.00
Usesse							Total Amo	unt:	\$3,085.58

Hanson

Reporting	Period Telecom Lines	s Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	:	3 0	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
4/2022	760	3,108	52	3,920	\$4,900.00	\$94.22	\$4,805.78	0.70	\$3,364.05
							Entity To Adjustm		\$3,366.68 \$0.00
							-		
							Total An	iount:	\$3,366.68

Harding

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2022	629	838	1	1,468	\$1,835.00	\$37.56	\$1,797.44	0.70	\$1,258.21
							Entity Tota	l:	\$1,258.21
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$1,258.21

Hughes

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	5	0	0	5	\$6.25	\$0.00	\$6.25	0.70	\$4.38
4/2022	580	3,118	164	3,862	\$4,827.50	\$103.47	\$4,724.03	0.70	\$3,306.82
							Entity Tota Adjustmer		\$3,311.20 \$0.00
Hutchinson							Total Amo	unt:	\$3,311.20

Reporting Period

Telecom Lines Wireless Lines

VOIP Total Lines

Surcharge

Admin Fee Net Surcharge

Entity Entity Amount Percent

4/2022	2,520	5,152	36	7,708	\$9,635.00	\$163.69	\$9,471.31	0.70	\$6,629.92
							Entity Tota	l:	\$6,629.92
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$6,629.92
Hyde									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2022	572	1,065	12	1,649	\$2,061.25	\$38.48	\$2,022.77	0.70	\$1,415.94
							Entity Tota	l:	\$1,415.94
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$1,415.94
Jackson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2022	549	839	10	1,398	\$1,747.50	\$28.18	\$1,719.32	0.70	\$1,203.52
							Entity Tota	l:	\$1,203.52
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$1,203.52
Jerauld									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2022	726	1,313	22	2,061	\$2,576.25	\$37.66	\$2,538.59	0.70	\$1,777.01

Entity Total:	\$1,777.01
Adjustment:	\$0.00

Total Amount: \$1,777.01

Jones

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2022	469	682	5	1,156	\$1,445.00	\$23.88	\$1,421.12	0.70	\$994.78

Adjustment: \$0.00

Total Amount: \$994.78

Kingsbury

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	3	0	8	11	\$13.75	\$0.00	\$13.75	0.70	\$9.63
4/2022	1,078	3,915	86	5,079	\$6,348.75	\$95.65	\$6,253.10	0.70	\$4,377.17
							Entity Tota Adjustmer Total Amo	nt:	\$4,386.80 \$0.00 \$4,386.80

Lake

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	0	0	2	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
4/2022	2,346	9,016	236	11,598	\$14,497.50	\$284.02	\$14,213.48	0.70	\$9,949.44
							Entity Tota	al:	\$9,951.19
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$9,951.19

Lawrence

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	1	0	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
4/2022	6,752	17,857	1,490	26,099	\$32,623.75	\$557.63	\$32,066.12	0.70	\$22,446.28
							Entity To Adjustmo Total Am	ent:	\$22,447.16 \$0.00 \$22,447.16

Lincoln

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	9	0	0	9	\$11.25	\$0.00	\$11.25	0.70	\$7.88
4/2022	3,287	24,411	1,644	29,342	\$36,677.50	\$777.98	\$35,899.52	0.70	\$25,129.66

Entity Total:	\$25,137.54
Entity I otal:	\$25,137.54

Adjustment: \$0.00

Total Amount: \$25,137.54

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2022	962	1,829	424	3,215	\$4,018.75	\$80.98	\$3,937.77	0.70	\$2,756.44
							Entity Tota	l:	\$2,756.44
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$2,756.44
Marshall									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2022	1,366	2,915	65	4,346	\$5,432.50	\$112.01	\$5,320.49	0.70	\$3,724.34
							Entity Tota	l:	\$3,724.34
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$3,724.34

McCook

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2022	1,754	4,311	51	6,116	\$7,645.00	\$144.94	\$7,500.06	0.70	\$5,250.04
							Entity Tota	l:	\$5,250.04
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$5,250.04
McBhorson									

McPherson

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2022	862	1,481	10	2,353	\$2,941.25	\$51.91	\$2,889.34	0.70	\$2,022.54
							Entity Tota	al:	\$2,022.54
							Adjustme	nt:	\$0.00

Meade

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	1	0	2	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
4/2022	2,860	18,746	155	21,761	\$27,201.25	\$490.36	\$26,710.89	0.70	\$18,697.62

Total Amount:

\$2,022.54

 Reporting Period
 Telecom Lines
 VOIP
 Total Lines
 Surcharge
 Admin Fee
 Net Surcharge
 Entity
 Entity Amount

J			Lines					Percent	
4/2022	538	734	6	1,278	\$1,597.50	\$26.68	\$1,570.82	0.70	\$1,099.57
							Entity Total:		\$1,099.57
							Adjustment:		\$0.00
							Total Amour	it:	\$1,099.57

Miner

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2022	894	1,759	20	2,673	\$3,341.25	\$55.21	\$3,286.04	0.70	\$2,300.23
							Entity Tot	al:	\$2,300.23
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$2,300.23

Minnehaha

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2022	0	0	1	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
3/2022	73	0	1	74	\$92.50	\$0.00	\$92.50	0.70	\$64.75
4/2022	35,835	156,767	5,869	198,471	\$248,088.75	\$4,717.43	\$243,371.32	0.70	\$170,359.92

Entity Total:	\$170,425.55
Adjustment:	\$0.00
Total Amount:	\$170,425.55

Moody

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2022	0	0	1	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
3/2022	0	0	1	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
4/2022	1,110	4,723	133	5,966	\$7,457.50	\$130.68	\$7,326.82	0.70	\$5,128.77

Entity Total: \$5,130.53

\$0.00

Adjustment:

Total Amount: \$5,130.53

\$0.00

\$3,311.64

Adjustment:

Total Amount:

Percent

Pennington

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	10	0	1	11	\$13.75	\$0.00	\$13.75	0.70	\$9.63
4/2022	22,155	85,496	3,067	110,718	\$138,397.50	\$2,427.47	\$135,970.03	0.70	\$95,179.02
							Entity Total		\$95,188.65
							Adjustment	:	\$0.00
							Total Amou	nt:	\$95,188.65
Perkins									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2022	1,603	2,237	13	3,853	\$4,816.25	\$85.34	\$4,730.91	0.70	\$3,311.64
							Entity Total	:	\$3,311.64

Potter

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2022	984	1,919	16	2,919	\$3,648.75	\$68.57	\$3,580.18	0.70	\$2,506.13
							Entity Tota	1:	\$2,506.13
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$2,506.13
Roberts									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2022	3,003	5,263	31	8,297	\$10,371.25	\$208.21	\$10,163.04	0.70	\$7,114.13
							Entity Total	:	\$7,114.13
							Adjustment	:	\$0.00
							Total Amou	nt:	\$7,114.13
Sanborn									
Reporting Period	Telecom Lines	Wireless Lines	VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount

Lines

3/2022	2	0	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
4/2022	711	1,749	21	2,481	\$3,101.25	\$46.14	\$3,055.11	0.70	\$2,138.58
							Entity Tota	al:	\$2,140.33
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,140.33
Spink									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2022	1,614	4,515	109	6,238	\$7,797.50	\$119.42	\$7,678.08	0.70	\$5,374.66
							Entity Tota	al:	\$5,374.66
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,374.66
Stanley									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	1	0	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
4/2022	647	2,228	65	2,940	\$3,675.00	\$58.67	\$3,616.33	0.70	\$2,531.43
							Entity Tota	al:	\$2,532.31
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,532.31
Sully									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2022	552	1,174	2	1,728	\$2,160.00	\$34.70	\$2,125.30	0.70	\$1,487.71
							Entity Tota	al:	\$1,487.71
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,487.71
Todd									
Reporting Period	Telecom Lines	Wireless Lines	VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
3/2022	0	0	3	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63	
4/2022	1	127	3	131	\$163.75	\$17.12	\$146.63	0.70	\$102.64	

\$105.27

							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$105.27
Tripp									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2022	2,068	4,058	32	6,158	\$7,697.50	\$146.55	\$7,550.95	0.70	\$5,285.67
							Entity Tota	al:	\$5,285.67
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,285.67
Turner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2022	1,867	6,408	50	8,325	\$10,406.25	\$185.25	\$10,221.00	0.70	\$7,154.70
							Entity Tota	al:	\$7,154.70
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,154.70
Union									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2022	2,392	11,406	674	14,472	\$18,090.00	\$409.15	\$17,680.85	0.70	\$12,376.60
							Entity Tota	al:	\$12,376.60
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$12,376.60
Walworth									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2022	1,685	3,629	315	5,629	\$7,036.25	\$125.46	\$6,910.79	0.70	\$4,837.55
							Entity Tota	al:	\$4,837.55
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,837.55

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2022	4,415	16,722	469	21,606	\$27,007.50	\$506.10	\$26,501.40	0.70	\$18,550.98
							Entity Total	:	\$18,550.98
							Adjustment	:	\$0.00
							Total Amou	nt:	\$18,550.98
TOTALS	183,502	624,998	22,686	831,186	\$1,038,982.50	\$18,922.45	\$1,020,060.05		